# | L— No. K4 iz B FiE R L% JIE £z
1 2 1 He &€& RiEmRE %= INFE6E B F100m 15" 2 15”7 5 157 2 5
1 3 7 H#B G RIEMkE &%= INF6E T F100m 17" 2 17" 2
1 4 16 X K8 REMEEK=E INEEE B F100m 16” 6 16" 6
1 5 218 Bk B BHELIST INFEBEEE B F100m 15”7 5 15”7 1 15”7 1 4
1 6 223 WE fEK BHELISD INFE6E B F100m 15" 6 15”7 5 15" 5
1 7 705 KE ENX KIRJAC INFBE B F100m 15" 3 157 3
2 2 702 BEH =X KEJAC INFEE B F100m 16" 5 16" 5
2 3 3 HE EzN REMEE&E INFEEE B F100m 14" 2 14" 5 14" 2 2
2 4 10 EER HERK REMEELE INFEG6EE B F100m 17" 6 17" 6
2 5 19 SH BX REMEESE INFEEE B F100m 16” 0 16” 0
2 6 219 g R BHELISD INEBE B F100m 147 9 15”7 5 147 9 7
3 2 220 =l EE BHELYSD INF6E B F100m 16”7 0 16”7 0
3 3 703 Al AR KEJAC INEEE B F100m 16" 1 16" 1
3 4 4 P RARER RiEMRE 5= INFBE B F100m 17" 3 17”7 3
3 5 12 EHFE =EA RoEMkE L #E= INEBEF B F100m 13”7 0 13”7 3 13”70 1
3 6 202 A Fia FAAS INEBEFEF100m 16”7 7 16”7 7
4 2 203 74t BEEER FAAS INEEE B F100m 14" 6 DNS 14" 6
4 3 222 R BE BHEESST INF6E B F100m 157 1 157 1 157 1 3
4 4 704 AR BEE2 KEJAC INEEE B F100m 16” 0 16”0
4 5 6 =20 BE RoRMkE EK=E INE6HF B F100m 18”7 9 18”7 9
4 6 13 %l = RoEMkE &%= INFEG6EE B F100m 15”7 7 15" 7




